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Determine if a pair of ratios forms a proportion.\Clearly show work and explain your decision.]
Circle your answer.
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Solve AND CHECK a proportion with a single variable.\Elearly show work.J Circle your
answer. NS,
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Set up and solve a proportion, including units, given a simple word problem.

(1) Set up the proportion; (2) Clearly show work to solve the proportion and remember to
check; and (3) Circle your answer using the appropriate units.

1) 15% of what is 18 minutes?
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3) What percent of 20 miles is 9 miles?
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2) What is 200% of 10 ft?
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Set up and solve a proportion, including units, given a real world example.

1) 12 bunches of grapes cost $18. How many bunches can you buy for $6?
Key Info: 1Z Grepes = %
7 Grepes = Pe
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Define Variable wamits: X = num ber oF bunches o+ - ek
12 X
Set Up Proportion: g~ b —\.ﬁ
Y Solve (clearly show work, roun to units): 12:6 = 15X oa X=12:( I8
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2) If you can buy seven pineapples for $28, then how many can you buy with $48?

Key Info: ~ Pine cppley = $2§
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Define Variable w/units: __ X = Nogmber 0F pine cpples
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Set Up Proportion: 4§ ~ 4§ \‘\
Solve (clearly show work, roun to units): 3 ASX =7-4% oQ X-= 7-48 =25
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